Current Event, Final Project

1. Current models explain elliptical galaxies as “dead” galaxies, the relative age of their stars range between 7 and 10 billion years, and the observed lack of gas precludes the formation of new stars, but scientists have found different History is suggested by the image of two galaxies obtained by the MegaCam.

2. Clusters of galaxies are large groups of dozens, or even hundreds of galaxies, from the forces of gravity holds together in a gravitational force. When these galaxies collide it can rip apart. With the Hubble’s telescope we can observe theses spectacles.

3. “Hidden Galaxies have lower amounts of heavier amounts of elements” Galaxies              that are hidden are mostly indicating that they are just being born. A galaxy called ESO 546-G34 is a nearly 20 year old galaxy; scientists have not taken much notice of it, but scientists observing this galaxy gives scientists an idea about how the formation of galaxies develop.

4. Comparisons between these current events, I think the comparison of these current events is that they all need gravity to keep them together and we get to get to know a little about how old galaxies can last, or at least the range of age galaxies and when there born. 

Resources
http://www.sciencedaily.com/releases/2011/06/110614115640.htm
